



---

**ERROR INEQUALITIES FOR WEIGHTED INTEGRATION FORMULAE AND  
APPLICATIONS**

NENAD UJEVIĆ AND IVAN LEKIĆ

*Received 2 February, 2006; accepted 23 January, 2008; published 30 June, 2008.*

DEPARTMENT OF MATHEMATICS, UNIVERSITY OF SPLIT, TESLINA 12/III, 21000 SPLIT, CROATIA  
ujevic@pmfst.hr  
ivalek@pmfst.hr

**ABSTRACT.** Weighted integration formulae are derived. Error inequalities for the weighted integration formulae are obtained. Applications to some special functions are also given.

*Key words and phrases:* weighted integration formula, error inequalities, special functions.

*2000 Mathematics Subject Classification.* Primary 26D10, 41A55; Secondary 33B20.

## 1. INTRODUCTION

In recent years a number of authors have considered weighted integral inequalities. These inequalities, very often, give error bounds for weighted quadrature formulae. The authors considered both, 1-dimensional and n-dimensional cases. For example, this topic is considered in [2]–[7] and [9]–[12]. In many cases obtained error inequalities are generalizations of the well-known Ostrowski integral inequality.

In this paper we establish a general weighted integration formula and emphasize a particular case of this formula. We also give few error inequalities for the weighted integration formula which can be considered (in some sense) as generalizations of the Ostrowski inequality but here we call more attention to applications of these inequalities. We use Appell-like sequences of functions to obtain the general integration formula. This further leads to use of the Beta and Gamma functions. We only briefly sketch possible applications of Bernoulli polynomials in such formulae. Finally, as illustrative examples of applications we give applications to some special functions. We consider the Fresnel and Dawson integrals and Error function.

## 2. MAIN RESULTS

We recall some properties of the Beta function

$$(2.1) \quad B(\alpha, \beta) = \int_0^1 (1-t)^{\alpha-1} t^{\beta-1} dt, \quad \alpha, \beta > 0,$$

and the Gamma function

$$(2.2) \quad \Gamma(z) = \int_0^\infty t^{z-1} e^{-t} dt, \quad z > 0.$$

We have

$$(2.3) \quad B(\alpha, \beta) = \frac{\Gamma(\alpha)\Gamma(\beta)}{\Gamma(\alpha + \beta)},$$

$$(2.4) \quad \Gamma(n) = (n-1)!, \quad n \in N,$$

$$(2.5) \quad \Gamma\left(n + \frac{1}{2}\right) = \frac{1 \cdot 3 \cdot 5 \cdots (2n-1)}{2^n} \Gamma\left(\frac{1}{2}\right) = \frac{(2n-1)!!}{2^n} \Gamma\left(\frac{1}{2}\right),$$

$$(2.6) \quad \Gamma\left(\frac{1}{2}\right) = \sqrt{\pi}.$$

We also define

$$\|f\|_\infty = \sup_{t \in [a,b]} |f(t)|,$$

$$\|f\|_1 = \int_a^b |f(t)| dt.$$

**Definition 2.1.** We say that the sequence  $\{Q_k(t, s)\}_0^\infty$  forms an Appell-like (or harmonic) sequence of functions with respect to the first variable  $t$  if

$$(2.7) \quad \frac{\partial Q_k(t, s)}{\partial t} = Q_{k-1}(t, s), \quad Q_0(t, s) = 1.$$

Further, we define the functions

$$(2.8) \quad P_k(t) = \int_a^t Q_{k-1}(t, s)w(s)ds, \quad t \in [a, b], \quad k = 1, 2, \dots,$$

where  $w(s)$  is an integrable function. Then we have

$$(2.9) \quad \begin{aligned} P'_k(t) &= \int_a^t \frac{\partial Q_{k-1}(t, s)}{\partial t} w(s)ds + Q_{k-1}(t, t)w(t) \\ &= \int_a^t Q_{k-2}(t, s)w(s)ds + Q_{k-1}(t, t)w(t) \\ &= P_{k-1}(t) + Q_{k-1}(t, t)w(t). \end{aligned}$$

If  $Q_k(t, t) = 0$ ,  $k \geq 1$ , then  $P'_k(t) = P_{k-1}(t)$ ,  $P_0(t) = w(t)$  and  $\{P_k(t)\}_1^\infty$  is an Appell-like (or harmonic) sequence of functions.

**Theorem 2.1.** *Let the sequence  $\{Q_k(t, s)\}_0^\infty$  forms an Appell-like sequence of functions with respect to the first variable  $t$  and let  $P_k(t)$  be defined by (2.8). If  $f \in C^n(a, b)$  then*

$$(2.10) \quad \int_a^b w(t)f(t)dt = \sum_{k=1}^n (-1)^{k+1} P_k(b)f^{(k-1)}(b) + \sum_{k=2}^n (-1)^{k+1} \int_a^b Q_{k-1}(t, t)w(t)f^{(k-1)}(t)dt + R(f),$$

where

$$(2.11) \quad |R(f)| \leq \|f^{(n)}\|_\infty \|P_n\|_1.$$

*Proof.* Integrating by parts, we obtain

$$(2.12) \quad \begin{aligned} (-1)^n \int_a^b P_n(t)f^{(n)}(t)dt &= (-1)^n [P_n(b)f^{(n-1)}(b) - P_n(a)f^{(n-1)}(a)] \\ &\quad + (-1)^{n-1} \int_a^b P'_n(t)f^{(n-1)}(t)dt. \end{aligned}$$

From (2.12) and (2.9) it follows that

$$\begin{aligned} (-1)^n \int_a^b P_n(t)f^{(n)}(t)dt &= (-1)^n P_n(b)f^{(n-1)}(b) \\ &\quad + (-1)^{n-1} \int_a^b Q_{n-1}(t, t)w(t)f^{(n-1)}(t)dt \\ &\quad + (-1)^{n-1} \int_a^b P_{n-1}(t)f^{(n-1)}(t)dt, \end{aligned}$$

since  $P_n(a) = 0$ . In a similar way we get

$$\begin{aligned} (-1)^{n-1} \int_a^b P_{n-1}(t)f^{(n-1)}(t)dt &= (-1)^{n-1} P_{n-1}(b)f^{(n-2)}(b) \\ &\quad + (-1)^{n-2} \int_a^b Q_{n-2}(t, t)w(t)f^{(n-2)}(t)dt \\ &\quad + (-1)^{n-2} \int_a^b P_{n-2}(t)f^{(n-2)}(t)dt. \end{aligned}$$

Continuing in this way we get

$$(2.13) \quad (-1)^n \int_a^b P_n(t) f^{(n)}(t) dt = \sum_{k=1}^n (-1)^k P_k(b) f^{(k-1)}(b) \\ + \sum_{k=2}^n (-1)^{k-1} \int_a^b Q_{k-1}(t, t) w(t) f^{(k-1)}(t) dt \\ + \int_a^b w(t) f(t) dt.$$

We see that (2.13) is equivalent to (2.10). We also have

$$R(f) = (-1)^n \int_a^b P_n(t) f^{(n)}(t) dt$$

such that it is not difficult to see that (2.11) holds, too. ■

**Corollary 2.2.** *Let the assumptions of Theorem 2.1 hold. If  $Q_k(t, t) = 0$ ,  $k \geq 1$ , then*

$$(2.14) \quad \int_a^b w(t) f(t) dt = \sum_{k=1}^n (-1)^{k+1} P_k(b) f^{(k-1)}(b) + R(f),$$

where

$$(2.15) \quad |R(f)| \leq \|f^{(n)}\|_{\infty} \|P_n\|_1.$$

**Remark 2.1.** Here we do not consider all possibilities of applications of the above theorem. We only mention some facts about that. We can choose

$$Q_n(t, s) = \sum_{k=0}^n \frac{c_k}{(n-k)!} (t-s)^{n-k},$$

where  $c_k$  are arbitrary coefficients. Further, in [8] we can find some Appell (or harmonic) sequences of polynomials. They can be used for construction of the functions  $Q_k(t, s)$ . For example,

$$Q_k(t, s) = \frac{(b-a)^k}{k!} B_k \left( \frac{t-s}{b-a} \right),$$

where  $B_k(t)$  are Bernoulli polynomials. We have  $B'_k(t) = kB_{k-1}(t)$  and  $Q_k(t, t) = \frac{(b-a)^k}{k!} B_k$ , where  $B_k = B_k(0)$  are Bernoulli numbers ( $B_{2k+1} = 0$ ,  $k \geq 1$ ). More about this polynomials and numbers can be found in [1].

Here we emphasize only one application (to special functions) of the above theorem. For that purpose we need the following variant of Theorem 2.1.

**Theorem 2.3.** *Let  $f \in C^n(a, b)$  and  $\beta > -1$ . Then*

$$(2.16) \quad \int_a^b (t-a)^{\beta} f(t) dt = \sum_{k=1}^n (-1)^{k+1} \frac{\Gamma(\beta+1)}{\Gamma(k+\beta+1)} (b-a)^{k+\beta} f^{(k-1)}(b) + R(f),$$

where

$$(2.17) \quad |R(f)| \leq \frac{\Gamma(\beta+1)}{\Gamma(n+\beta+1)} (b-a)^{n+\beta+1} \|f^{(n)}\|_{\infty}.$$

*Proof.* We define

$$(2.18) \quad Q_k(t, s) = \frac{(t-s)^k}{k!} \text{ and } w(s) = (s-a)^\beta.$$

From (2.8) and (2.18) we have

$$P_k(b) = \int_a^b Q_{k-1}(b, s)(s-a)^\beta ds = \int_a^b \frac{(b-s)^{k-1}}{(k-1)!} (s-a)^\beta ds.$$

If we substitute  $u = s - a$  then we get

$$P_k(b) = \int_a^b \frac{(b-a-u)^{k-1}}{(k-1)!} u^\beta du = \frac{(b-a)^{k-1}}{(k-1)!} \int_a^b \left(1 - \frac{u}{b-a}\right)^{k-1} u^\beta du.$$

We now substitute  $v = u/(b-a)$ . Then we have

$$(2.19) \quad P_k(b) = \frac{(b-a)^{k+\beta}}{(k-1)!} \int_0^1 (1-v)^{k-1} v^\beta dv.$$

From (2.19) and (2.1)-(2.4) it follows that

$$(2.20) \quad \begin{aligned} P_k(b) &= \frac{(b-a)^{k+\beta}}{(k-1)!} B(k, \beta+1) = \frac{(b-a)^{k+\beta}}{(k-1)!} \frac{\Gamma(k)\Gamma(\beta+1)}{\Gamma(k+\beta+1)} \\ &= \frac{\Gamma(\beta+1)}{\Gamma(k+\beta+1)} (b-a)^{k+\beta}. \end{aligned}$$

From (2.14) and (2.20) we see that (2.16) holds. From (2.15) and (2.20) we find that

$$\begin{aligned} |R(f)| &\leq \|f^{(n)}\|_\infty \int_a^b \left| \int_a^b \frac{(b-s)^{n-1}}{(n-1)!} (s-a)^\beta ds \right| dt \\ &= \|f^{(n)}\|_\infty \int_a^b |P_n(b)| dt = \frac{\Gamma(\beta+1)}{\Gamma(n+\beta+1)} (b-a)^{n+\beta+1} \|f^{(n)}\|_\infty \end{aligned}$$

such that (2.17) holds, too. ■

**Corollary 2.4.** *Let  $f \in C^n(a, b)$ . Then*

$$(2.21) \quad \int_a^b \frac{f(t)}{\sqrt{t-a}} dt = \sum_{k=1}^n (-1)^{k+1} \frac{2^k (b-a)^{k-\frac{1}{2}}}{(2k-1)!!} f^{(k-1)}(b) + R(f),$$

where

$$(2.22) \quad |R(f)| \leq \frac{2^n}{(2n-1)!!} (b-a)^{n+\frac{1}{2}} \|f^{(n)}\|_\infty.$$

*Proof.* We use (2.5) and apply Theorem 2.3 with  $\beta = -1/2$ . ■

### 3. APPLICATIONS TO SPECIAL FUNCTIONS

We consider the Fresnel integrals

$$(3.1) \quad FS(x) = \int_0^x \sin t^2 dt \text{ and } FC(x) = \int_0^x \cos t^2 dt,$$

the Dawson integral

$$(3.2) \quad D(x) = \int_0^x e^{-t^2} dt$$

and the Error function

$$(3.3) \quad \operatorname{Erf}(x) = \frac{1}{2\sqrt{\pi}} \int_0^x e^{-t^2} dt.$$

**Proposition 3.1.** *Let  $FS(x)$  be defined by (3.1). Then*

$$(3.4) \quad FS(x) = x \sin x^2 S_n(x) + x \cos x^2 C_n(x) + R_n,$$

where

$$(3.5) \quad S_n(x) = \sum_{j=0}^{\lfloor \frac{n-1}{2} \rfloor} (-1)^j \frac{2^{2j} x^{4j}}{(4j+1)!!},$$

$$(3.6) \quad C_n(x) = \sum_{j=0}^{\lfloor \frac{n-2}{2} \rfloor} (-1)^{j+1} \frac{2^{2j+1} x^{4j+2}}{(4j+3)!!}$$

and

$$(3.7) \quad |R_n| \leq \frac{2^n x^{2n+1}}{(2n-1)!!}.$$

*Proof.* We substitute  $a = 0$  and  $f(t) = \sin t$  in (2.21). We have

$$(3.8) \quad f^{(2j)}(b) = (-1)^j \sin b,$$

$$(3.9) \quad f^{(2j+1)}(b) = (-1)^j \cos b, \quad j = 0, 1, 2, \dots$$

If  $k-1$  is even,  $k = 2j+1$ , then (3.8) holds and

$$(3.10) \quad (-1)^k \frac{2^k (b-a)^{k-\frac{1}{2}}}{(2k-1)!!} f^{(k-1)}(b) = -\frac{2^{2j+1} b^{2j+\frac{1}{2}}}{(4j+1)!!} (-1)^j \sin b.$$

If  $k-1$  is odd,  $k = 2j+2$ , then (3.9) holds and

$$(3.11) \quad (-1)^k \frac{2^k (b-a)^{k-\frac{1}{2}}}{(2k-1)!!} f^{(k-1)}(b) = -\frac{2^{2j+2} b^{2j+\frac{3}{2}}}{(4j+3)!!} (-1)^j \cos b.$$

From (2.21), (3.10) and (3.11) we get

$$(3.12) \quad \int_0^b \frac{\sin t}{\sqrt{t}} dt = -\sum_{j=0}^{\lfloor \frac{n-1}{2} \rfloor} \frac{2^{2j+1} b^{2j+\frac{1}{2}}}{(4j+1)!!} (-1)^{j+1} \sin b \\ - \sum_{j=0}^{\lfloor \frac{n-2}{2} \rfloor} \frac{2^{2j+2} b^{2j+\frac{3}{2}}}{(4j+3)!!} (-1)^j \cos b.$$

We also have

$$(3.13) \quad \int_0^x \sin u^2 du = \frac{1}{2} \int_0^{x^2} \frac{\sin t}{\sqrt{t}} dt.$$

If we now substitute  $b = x^2$  in (3.12) then from (3.13) we see that (3.4) holds. We easily get the estimate (3.7) from (2.22). ■

**Proposition 3.2.** Let  $FC(x)$  be defined by (3.1). Then

$$(3.14) \quad FC(x) = x \cos x^2 S_n(x) - x \sin x^2 C_n(x) + R_n,$$

where  $S_n(x)$  and  $C_n(x)$  are defined by (3.5) and (3.6) and

$$(3.15) \quad |R_n| \leq \frac{2^n x^{2n+1}}{(2n-1)!!}.$$

*Proof.* The proof is similar to the proof of Proposition 3.1.

We substitute  $a = 0$  and  $f(t) = \cos t$  in (2.21). We have

$$(3.16) \quad f^{(2j)}(b) = (-1)^j \cos b,$$

$$(3.17) \quad f^{(2j+1)}(b) = (-1)^{j+1} \sin b, \quad j = 0, 1, 2, \dots$$

If  $k - 1$  is even,  $k = 2j + 1$ , then (3.16) holds and

$$(3.18) \quad (-1)^k \frac{2^k (b-a)^{k-\frac{1}{2}}}{(2k-1)!!} f^{(k-1)}(b) = -\frac{2^{2j+1} b^{2j+\frac{1}{2}}}{(4j+1)!!} (-1)^j \cos b.$$

If  $k - 1$  is odd,  $k = 2j + 2$ , then (3.17) holds and

$$(3.19) \quad (-1)^k \frac{2^k (b-a)^{k-\frac{1}{2}}}{(2k-1)!!} f^{(k-1)}(b) = -\frac{2^{2j+2} b^{2j+\frac{3}{2}}}{(4j+3)!!} (-1)^j \sin b.$$

From (2.21), (3.18) and (3.19) we get

$$(3.20) \quad \int_0^b \frac{\cos t}{\sqrt{t}} dt = -\sum_{j=0}^{\lfloor \frac{n-1}{2} \rfloor} \frac{2^{2j+1} b^{2j+\frac{1}{2}}}{(4j+1)!!} (-1)^j \cos b \\ - \sum_{j=0}^{\lfloor \frac{n-2}{2} \rfloor} \frac{2^{2j+2} b^{2j+\frac{3}{2}}}{(4j+3)!!} (-1)^j \sin b.$$

We also have

$$(3.21) \quad \int_0^x \cos u^2 du = \frac{1}{2} \int_0^{x^2} \frac{\cos t}{\sqrt{t}} dt.$$

If we now substitute  $b = x^2$  in (3.20) then from (3.21) we see that (3.14) holds. We get the estimate (3.15) from (2.22). ■

**Proposition 3.3.** Let  $D(x)$  be defined by (3.2). Then

$$(3.22) \quad D(x) = \sum_{k=1}^n (-1)^{k+1} \frac{2^k x^{2k-1}}{(2k-1)!!} e^{x^2} + R_n,$$

where

$$(3.23) \quad |R_n| \leq \frac{2^n x^{2n+1}}{(2n-1)!!} e^{x^2}.$$

*Proof.* We substitute  $a = 0$  and  $f(t) = e^t$  in (2.21). We have

$$f^{(k)}(t) = e^t, \quad k = 0, 1, 2, \dots$$

We also have

$$(3.24) \quad \int_0^x e^{u^2} du = \frac{1}{2} \int_0^{x^2} \frac{e^t}{\sqrt{t}} dt$$

and

$$(3.25) \quad (-1)^k \frac{2^k (b-a)^{k-\frac{1}{2}}}{(2k-1)!!} f^{(k-1)}(b) = (-1)^k \frac{2^k b^{k-\frac{1}{2}}}{(2k-1)!!} e^b.$$

From (2.21), (3.24) and (3.25) with  $b = x^2$  we easily find that (3.22) holds. The estimate (3.23) follows immediately from (2.22). ■

**Proposition 3.4.** *Let  $Er f(x)$  be defined by (3.3). Then*

$$(3.26) \quad Er f(x) = \frac{1}{2\sqrt{\pi}} \sum_{k=1}^n \frac{2^{k-1} x^{2k-1}}{(2k-1)!!} e^{-x^2} + R_n$$

where

$$(3.27) \quad |R_n| \leq \frac{1}{2\sqrt{\pi}} \frac{2^n x^{2n+1}}{(2n-1)!!} e^{-x^2}.$$

*Proof.* The proof is similar to the proof of Proposition 3.3.

We substitute  $a = 0$  and  $f(t) = e^{-t}$  in (2.21). We have

$$f^{(k)}(t) = (-1)^k e^{-t}, \quad k = 0, 1, 2, \dots$$

We also have

$$(3.28) \quad \int_0^x e^{-u^2} du = \frac{1}{2} \int_0^{x^2} \frac{e^{-t}}{\sqrt{t}} dt$$

and

$$(3.29) \quad (-1)^k \frac{2^k (b-a)^{k-\frac{1}{2}}}{(2k-1)!!} f^{(k-1)}(b) = \frac{2^k b^{k-\frac{1}{2}}}{(2k-1)!!} e^b.$$

From (2.21), (3.28) and (3.29) with  $b = x^2$  we easily find that (3.26) holds. The estimate (3.27) follows immediately from (2.22). ■

## REFERENCES

- [1] M. ABRAMOWITZ and I. A. STEGUN (Eds), *Handbook of Mathematical Functions with Formulas, Graphs, and Mathematical Tables*, National Bureau of Standards, Applied Mathematics Series 55, 4th printing, Washington, 1965.
- [2] N. S. BARNETT, C. BUSE, P. CERONE and S. S. DRAGOMIR, On weighted Ostrowski type inequalities for operators and vector-valued functions, *J. Inequal. Pure Appl. Math.*, **3** (2002), Article 12.
- [3] P. CERONE, Weighted three point identities and their bounds, *SUT J. Math.*, **38** (2002), pp. 17–37.
- [4] P. CERONE and J. ROUMELIOTIS, Generalized weighted trapezoidal rule and its relationship to Ostrowski results, *J. Comput. Anal. Appl.*, (accepted).
- [5] P. CERONE, J. ROUMELIOTIS and G. HANNA, On weighted three point quadrature rules, *ANZIAM J.*, **42(E)**, (2000), C340–C361.
- [6] M. MATIĆ, J. PEČARIĆ and N. UJEVIĆ, Generalization of weighted version of Ostrowski's inequality and some related results, *J. Inequal. Appl.*, **5** (2000), pp. 639–666.
- [7] M. MATIĆ, J. PEČARIĆ and N. UJEVIĆ, Weighted version of multivariate Ostrowski type inequalities, *Rocky Mount. J. Math.*, **31** (2001), pp. 511–538.
- [8] M. MATIĆ, J. PEČARIĆ and N. UJEVIĆ, On new estimation of the remainder in generalized Taylor's formula, *Math. Inequal. Appl.*, **2** (1999), pp. 343–361.



- [9] D. S. MITRINOVIĆ, J. PEČARIĆ and A. M. FINK, *Classical and New Inequalities in Analysis*, Kluwer Acad. Publ., Dordrecht/Boston/London, 1993.
- [10] L. E. PERSSON and A. KUFNER, *Weighted Inequalities of Hardy Type*, World Scientific, New Jersey/London/Singapore/Hong Kong, 2003.
- [11] L. E. PERSSON, S. BARZA and J. SORIA, Sharp weighted multidimensional integral inequalities of Chebyshev type, *J. Math. Anal. Appl.*, **236** (1999), pp. 243–253.
- [12] N. UJEVIĆ, Inequalities of Ostrowski type in two dimensions, *Rocky Mount. J. Math.*, **35** (2005), pp. 331-348.